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asym_bcm_an_ds_mean vs run
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- x2 [ ndf 80.65/80
ulllD
30000 p0  -859.5 +887.9 P
20000 14+
10000 StdDev 09973
12
0
10+
~10000 [
8_
—20000 - =
6_ Ll
CHO RO TR LGOI K LTS 80 SEED "GN 0RO SN ORS00t St S0 A caxtn Shaxt Leas : L
5 i CB066 it T S G LeQR N AT LD (e (SO0 I 680 CiiiS oo b ;
SRR TR s s nEEEE .
..................................................................... pull r
+ .| Entries 81
2 | Mean 81.77
B Std De 26.16
1 s il 2
1 O-IlllllllllmII|III|III|III|III

-8 -6 -4 -2 0 2 4 6 8




950

900

850

800

750

700

650

600

asym_cav4bQ rms vs run

- X2 [ ndf 6598 / 80
= ; pO 798 + 0.6279
- ¢

— ¢ [ ]

- ¢ ¢ ¢

il ¢ s ¢

L X ; et . s

i ¢ ¢ ¢ . éé éii éﬁéé éé

_ ¥ 4 é ¢ & (VAL M M. -

E_’ AN 9{. Iy 3
v, *

- )

— é ®

— @

g

-8

%

WWWWWWWWMWWMWWWWW

BEE
Qoo

% DA
SR

D
[cower el

()8

TR

B

T

52




asym_cav4cQ_mean vs run
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